UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES ' Project: PTKT Floor

aut safe DO NOT SCALE

PROPRIETARY AND CONFIDENTIAL
Driven by Innovation

THE INFORMATION CONTAINED WITHIN THIS
DRAWING IS THE SOLE PROPERTY OF AUTOSAFE. ANY
REPRODUCTION IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF AUTOSAFE IS PROHIBITED

DRAWING APPROVAL Snr.Management:

Part No:PTKT-FIVEDAI9-KIT
Finish:
.7 7| AS1100 Description: lveco Daily 9 Flooring

Date: 4/11/2024 Print Date:
SCALE:1:25 Sheet Size: A3
Sheet No. SHEET 1 OF 4

Scale:

ITEM

NO. PART NUMBER DESCRIPTION QTY.
10g x 1/2 Zinc Pan Phillips
] 10X12ZPPCRST Self Tapper 7
2 16 x 20mm spacer 16 x 20mm spacer 3
3 ILF-FLR-EXT-1305 Floor Joiner 1305 ]
4 ILF-FLR-EXT-1730 Floor Joiner 1730 ]
5 wgé(thormm M8 x 20mm Washer 8
6 M8 x 30mm M8 x 30mm Domehead 5
Domehead Screw Screw
M8 x 50mm M8 x 50mm Domehead 3
Domehead Screw Screw
IVECO Daily 9 Rear
PTKT-FIVEDAI?-01 Panel ]
IVECO Daily 9 Centre
PTKT-FIVEDAI?-02 Panel ]
IVECO Daqily 9 Front
PTKT-FIVEDAI?-03 Panel ]
PTKT-SC1200 Step Cap 1200 Length 1
PTKT-SC500 Step Cap 500 length 1
TIE DOWN INCLUDED IN VEHICLE 8

Material:

Client:

Thickness:

‘ Revision:

‘Sto‘rus:Approved

Vehicle: lveco Daily 9

Drawn By: JC




ITEM NO. PART NUMBER DESCRIPTION QTY.

PRIOR TO INSTALLATION REMOVE ALL FACTORY 1 [PTKT-FIVEDAI9-O] IVECO Dally 9 Rear Panel 1

TI E DOWN PO'NTS |N FLOOR 2 PTKT-FIVEDAI?-02 IVECO Daily 9 Centre Panel 1
3

ILF-FLR-EXT-1305 Floor Joiner 1305 1

STAGE 1

ITEM

NO. PART NUMBER DESCRIPTION QTY.
1 |PTKT-FIVEDAI9-01 |IVECO Daily 9 Rear Panel| 1 STAGE 2
2 ILF-FLR-EXT-1305 Floor Joiner 1305 1
UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES = Project: PTKT Floor DRAWING APPROVAL Snr.Management: Client: | Revision:

DO NOTSCALE Date: 4/11/2024 Print Date: Part No:PTKT-FIVEDAI9-KIT Material: Thickness: |SfoTus:Approved

aUt safe e Ao CONTARES i Scale: SCALE:1:25 Sheet Size: A3 Finish: Vehicle: Iveco Daily 9

TTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTT
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA

Driven by Innovation  weoswcioun ot o wmou SheetNo. SHEET20F4 7 | AS1100 Description:lveco Daily 9 Flooring Drawn By: JC

EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE




ITEM

NO. PART NUMBER DESCRIPTION QTY.
IVECO Daily 9 Rear
1 |PTKT-FIVEDAI9-01 Panel ]
IVECO Daily 9 1

2 |PTKT-FIVEDAI9-02 | Aom pa

IVECO Daily 9 Front 1

3 |PTKT-FIVEDAI?-03 Panel

4 |ILF-FLR-EXT-1305 Floor Joiner 1305 ]

S5 |ILF-FLR-EXT-1730 Floor Joiner 1730 1
16 x 20mm

6 spacer 16 x 20mm spacer | 2

STAGE 3

UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES ' Project: PTKT Floor
DO NOT SCALE

PROPRIETARY AND CONFIDENTIAL

aut. safe

Driven by Innovation

STAGE 4

DETAIL a

SCALE 1:5

DRAWING APPROVAL Snr.Management:

Part No:PTKT-FIVEDAI9-KIT
Finish:
.7 7| AS1100 Description: lveco Daily 9 Flooring

Date: 4/11/2024 Print Date:
SCALE:1:25 Sheet Size: A3

Sheet No. SHEET 3 OF 4

Scale:

ITEM NO.| PART NUMBER DESCRIPTION QTY.
1 PTKT-FIVEDAI?-01 | IVECO Daily ? Rear Panel 1
IVECO Daily 9 Centre
2 PTKT-FIVEDAI?-02 Panel ]
3 PTKT-FIVEDAI?-03 | IVECO Daily 9 Front Panel ]
4 ILF-FLR-EXT-1305 Floor Joiner 1305 ]
5 ILF-FLR-EXT-1730 Floor Joiner 1730 ]
16 x 20mm
6 spacer 16 x 20mm spacer 3
M8 x 50mm
7 Domehead M8 x 50msrgreDvcv>meheod 3
Screw
8 TIE DOWN
{\//\\/g;(h%?mm M8 x 20mm Washer
M8 x 30mm
10 Domehead M8 x 30msrgrgv<3meheod 5
Screw
Client: ‘ Revision:
Material: Thickness: ‘ Status.Approved

Vehicle: lveco Daily 9
Drawn By: JC




UNLESS NOTED OTHERWISE DIMENSIONS IN MILLIMETRES ' Project: PTKT Floor
DO NOT SCALE

PROPRIETARY AND CONFIDENTIAL

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 PTKT-FIVEDAI?-01 IVECO Daily 9 Rear Panel ]
2 PTKT-FIVEDAI?-02 IVECO Daily 9 Centre Panel 1
3 PTKT-FIVEDAI?-03 IVECO Daily 9 Front Panel 1
4 ILF-FLR-EXT-1305 Floor Joiner 1305 1
5 ILF-FLR-EXT-1730 Floor Joiner 1730 1
6 16 x 20mm spacer 16 x 20mm spacer 3
7 I[\)/\gréggrenorg Screw M8 x 50mm Domehead Screw 3
8 TIE DOWN 8
9 M8 x 20mm Washer M8 x 20mm Washer 8
10 '[\)Agréggrenarg Screw M8 x 30mm Domehead Screw 5
11 PTKT-SC1200 Step Cap 1200 Length 1
12 10X12ZPPCRST 10g x 1/2 Zi?gpli)oer; Phillips Self 7

PTKT-SC500 Step Cap 500 length 1

Client:

DRAWING APPROVAL Snr.Management:
Part No:PTKT-FIVEDAI?-KIT Material:
Finish:

77| AS1100 Description: lveco Daily 9 Flooring

Date: 4/11/2024 Print Date:
SCALE:1:25 Sheet Size: A3

Sheet No. SHEET 4 OF 4

aut. safe

Driven by Innovation

Scale:

‘ Revision:

Thickness: ‘Sto‘rus:Approved

Vehicle: lveco Daily 9
Drawn By: JC




	Sheet4
	Drawing View7

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Drawing View5
	Detail View A (1 : 5)

	Sheet3
	Drawing View6


